1.- Resuelve:
a) 3x=27
b) 3x-1=20
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C =
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d) 3x-1 9
5

4

2.- Resuelve:

a) 2x-4=6; x=5

b) 4x-12=0; x=3

C) x_+1=2; x=5
3

d) x*+1=26; x=5

3.- Resuelve:
a) X_Xiq
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X
by ==3
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c) 5-x=0
d) x-2+%-13
3 5
4.- Resuelve:
a) x*=81; x=%9
b) x°=7; x=+7
c) 5x°=20; x==2
d) 4x*=1; X:J_r1
2
e) x*-9=0; x=43
2
f) Si:g’ X:iﬂ
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X x* 5x
—+—=—; Xx=0, x=2
9) 3 4 6
5.- Resuelve:

a) xX°-6x+8=0; x=4, x=2
b) x*+x-12=0; x=3, x=-4

c) 2x*—7x+6=0; x=2 x:g

d) x*+6x+9=0; x=-3, x=-3



6.- Reduce y resuelve:

a) x*—3x-5=2x+09; x:5+;/@,x:5_;/@

b) 6x*—5(x—1)=x(x+1)+4; x=1 x==

c) 2x2+§=x2+g+l; x:ﬂ,x=——
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d) x(x+)-==——; Xx==, Xx=
) x(x+1) >~ 5 >
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